N2°X1 7"7 '010 2,m M2IND .7"'02

And let us say, it belongs to her - 777D RMORY

Overview
The X3 asked, let us say that the 2391 N2 of an 701X should be paid to her, not to
her father (as it is regarding 01 where the 710 writes explicitly 77w *2a8% "1 10).

mooIn anticipates a difficulty:
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Even though I explained previously that 239y nen2 are compared to °1p,

regarding that the 8"12 is given to whom the 917 is given, and since the 03p is given to
the father, so too the 5™2 is to be given to the father, so what is the s'®3 question 77777 72°RY'?!

mooIn responds:
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That was said after we have established here that everything (the 017 and 5"12)
belong to the father.

Summary
We say regarding 01p and 512 that they are given to the same party only after we

have established this rule that it all belongs to the father.

Thinking it over

Previously® mpoin explained the reason why regarding 01p and 5" we say that they
are given to the same party is because 012 5"2 WpPn°R, so if it is from a wp 7 why
are we asking here 7772 X2°X), etc., we know it already from the wpn?!*

''w> 7"71n (TIE footnote # 10). See ‘Thinking it over’.

2 Once we derive here that 53 (as well as 03p) belong to the father we can extrapolate and say that in other instances
where the 01p belongs to the daughter (for instance) the 5™2 also belongs to the daughter.

3 See footnote # 1. 'o1n2 w">¥.

4 See w"X"7 '010 and 27123 1.
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